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Mixed messages

There are two mixed up sentences here. Work out what
they both say and where the spaces between the words

should be.
TTohreenswoelnveeetdht
loswwoernkeoeudttwohw
erriettehoeustpedvceers
ysohtohuelrdlgeotttoemr
dtkoemsaeknesoeuorfittw
hoesseenntteenncceess.
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Answer

The letters are alternating between the two sentences so
every other letter makes the proper sentence. If you look at
the last line you can nearly see the word ‘sentences’ with each
letter written twice. Add in the spaces so that the sentences
can be easily read.

To resolve this we need to write out every other letter to
make our two sentences. Then we need to work out where
the spaces should go to make sense of the sentences.
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